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1. Warm Up - White Board Work and Scribbler
Do pages 348 # 3 to 7 ALL- white boards
#8a and 8¢, 9a, 9¢
Check your work and ask for clarification on any errors before moving to 2.

2. A)What is a trapezoid? (Use glossary).
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b) Plot the points P (-2, 5) Q(-4,3), R (4, -5), S (5, -2) . Connect to malke a quadrilateral. ' OP '
y-axis P paralle! Bucte
¢) Is this figure a trapezoid? JUSTIFY your answer, P oy
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3a)What isa parallelogra ?
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3.b)Plot the points A{-4,1}, B(-2,5), C (3,1} and D(5, 5). Connect to make a quadrilateral.

y-axis c) Prove or justify that ABCD is a paraltelogram.
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~ 4.a)Plot the points X( -4,T), ¥(-2,4), and Z (4,-0). Corinect to make a triangle,

b) What is a right triangle?
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5.a)Plot the points U{ -1,2), V(-4,-1) , W {-1,-4} and Z {2, -1 nnect to makeaquadrllateraf

UVWZ is a parallelogram. What does this mean?
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c) Extension: How could we prove that UVYWZ is a SQUARE? Search the Distance Formula on google
wﬁ% and give this a try. wﬂé - m UVWZ. 15 a F‘d’@‘iﬂ;‘l@i{%‘
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